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ENGLISH LANGUAGE & LITERATURE 

I. Read the passage given below. 
 I. Research from the Publishers Association has shown that films based on books take 44% more at the 

box office revenue in the UK and 53% more worldwide than original screenplays. The report explores 

what impact a book has when adapted for film and TV.  

II. The report reads: “Published material is the basis of 52% of top UK films in the last 10 years, and 

accounts for an even higher share of revenue from these leading performers, at 61% of UK box office 

gross and 65% of worldwide gross.” The Hollywood adaptation of “My Cousin Rachel” was shown to 

have a significant impact on the sales of the Daphne Du Maurier thriller. The sales of the book in 2017 

alone accounted for 23% of all sales since 1992. 

III. The research suggests that adapted films tend to perform better, because films can “leverage the 

popularity” of well-known books through an existing audience. Films adapted from books also tend to 

have a richer, more fully-developed story to draw on. In terms of TV adaptation, it was revealed that a 

quarter of dramas were based on literary sources and attracted a 56% larger share of the audience than 

those based on original scripts. Fourteen of the 35 high end series produced in the UK in the period 

between January and September 2017 were based on books, compared to seven based on true stories or 

historical events and five based on pre-existing films or TV stories.  

IV. In the case of the 2016 BBC broadcast of “The Night Manager”, research revealed that while the 

novel was in circulation for over 25 years, 82% of the copies it sold were in 2016 and 2017. Sales of 

the paperback edition remained strong in 2017 even after the series went off the air.  

V. In conclusion, the report states that “there is a strong two-way relationship between publishing and 

the wider creative economy, wherein a successful adaptation often has spill-over effects and gives a 

substantial boost to the sales of the original book.” 

Based on your understanding of the passage, answer the following questions by choosing the 

correct option.  

Q.1 The purpose of the research by Publishers Association was to study the_____.  

Choose the correct option.  

A. variety in films and TV shows.      B. impact of films on books. 

 C. choice of books for film-making. D. connect between books and films.  

Q.12 Select the option that is true for the two statements given below. 

(1) The revenues generated at the box office have increased.  

(2) Majority of the top films in the UK are based on published material.  

A. (1) is the result of (2). B. (1) is the reason for (2). C. (1) is independent of (2). D. (1) contradicts (2).  

 

Q.2 Select the option that gives the correct meaning of the following statement.  

“The sales of the book in 2017 alone accounted for 23% of all sales since 1992.” 

A. There were 23% higher sales in 2017 than previous years.  

B. A major chunk of sales happened in 2017.  

C. The sales were limited to 23% in 2017.                                    

D. There were very few books sold   in the previous years.  

 

Q.3 According to the research, the films based on books have greater success because____.  

A. people like to see the characters from the books on screen.     

B. the films get the advantage of the fame of the books.  

C. it takes less effort for people to watch films than read books.  

D. the films get a ready-made script from the books. 



Q.4 Select the option listing what the given sentence refers to.  

‘Films adapted from books also tend to have a richer, more fully-developed story to draw on.’  

(1) The plot and the storyline of such films are better.  

(2) The characters are likely to be more vivid.  

(3) The production of such films is meant for the rich and famous.  

(4) The settings and costumes are adapted from the book.  

(5) The making of such films require the author to write a sequel.  

A. (1), (3) and (4) B. (2), (3) and (5) C. (1), (2) and (5) D. (1), (2) and (4) 

Q.5 On what from the following were the maximum TV serials in UK in the year 2017 based?  

A. books. B. historical stories. C. original true stories. D. previous films.  

Q.6 This passage lists an example proving that TV dramas based on literary works 

have_______.  

Select the correct option.  

A. increased the immediate sales of the book                

B. increased the sales of the book during the first screening  

C. had no immediate impact on the sales of the book  

D. had very little impact on the sales of the book  

Q.7 Choose the correct option to answer the following: According to paragraph V, ‘there is a 

two-way relationship between books and the screen’. This is so because both  

A. revolve around the same stories  . B. cater to an audience with the same taste.  

C. gain from each other’s popularity. D. belong to the creative field. 

II. Answer the following questions in 100 – 120 words each. 

a. Herriot enjoyed the lavish (costly) meals during Tricki’s stay but still, he felt compelled (forced to 

do something) to inform Mrs. Pumphrey about the recovery of Tricki. Why did he not keep Tricki for 

a longer time? Did he feel concerned for Mrs. Pumphrey? Discuss the values he possessed. 

b. Why does the author in ‘Coorg’ say that the visitors’ search for the heart and soul of India would 

be found in Coorg?  

ह िंदी 

I. हिम्नहिखित में से हिन्ही चार सामाहसि पद िं िा समास-हिग्र  िरिे समास िा िाम बताइए। 

(1) यथाशखि                    (2)   थिडी                 (3) मि  र                  (4) रसभरा            (5)  गुरुदहिणा        

(6) गिंगाजि                       (7) िाययिुशि             (8) िियुिि                 (9) चौमासा           (10) अठन्नी     

(11) हगररधर                      (12) दशािि               (13) अिािपीहडत        (14) मार-पीट       (15) िीिििं ठ       

(16) अष्टाध्यायी                  (17) िीििमि            (18) ठिं डा-गरम            (19) ििंब दर          (20) पीतािंबर 

 

II. हिम्नहिखित िाक् िं िे पदबिंध िं िे भेद बताइए। 

(1) अक्लमिंदी हदिते हुए आपिे बािि ि  हगरिे से बचा हिया। 

(2) बरगद िे पेड िी घिी छााँि से  में गमी में भी ठिं डि िा ए सास हुआ 

(3)  द   ष्ट-पुष्ट ि ग बडे पत्थर ि  रासे्त से  टा पाए 

(4) राधा िा िुत्ता अत्यिंत सुिंदर, और आज्ञािारी  ै। 

(5) च री िरिे िािे बदमाश िं में से िुछ पिडे गए।  

(6) उस छत िे ि िे में बैठा हुआ व्यखि पागि  ै। 

(7) ि  हिद्यािय से हििि िर बाजार िी ओर आया   गा। 

(8) राम हिसी से अच्छा व्यि ार ि ी िं िरता इसीहिए उसिे जन्महदि पर ि ई ि ी िं आया। 

(9) मुझे अपिे घर िी खिडिी से जिंगि में सुन्दर हगि ररयााँ हदिाई दे र ी  ै। 

(10) बाजार से सखियााँ िािे रीमा ि  भेजा गया। 

 

 



III. हिम्नहिखित िाक् िं िे रचिा िे आधार पर भेद बताइए। 

1. प्रातः  जल्दी उठ  और एि घिंटे हियहमत रूप से व्यायाम िर । 

2. मरीज दिाएाँ  िेिे अस्पताि गया। 

3. अध्यापि आए और ििा में श र बिंद    गया। 

4. पररश्रमी मजदूर िं ि  सभी िाम पर बुिाते  ैं। 

5. ज  ि ग धििाि   ते  ैं, उन्हें गरीब िं िी मदद िरिी चाह ए। 

6. जैसे  ी म  ि आया श्याम िे आगे बढ़िर उसिा स्वागत हिया। 

7. उसिे अपिा आपा ि या और िटुिचि ब ििे िगा। 

8. सिेरा   ते  ी पहिय िं िे ििरि से आसमाि गूिंज उठा। 

9. आाँधी आई और धूि उडिे िगी। 

10. अपिे अथि पररश्रम से उसिे असिंभि ि  भी सिंभि बिा हदया। 

IV. हिम्नहिखित मु ािर िं िा प्रय ग अपिे िाक् िं में इस प्रिार िरें  हि उििा अथय स्पष्ट    जाए- 

(1) िूि िौििा                                (2)  हसर पर िफ़ि बााँधिा                  (3) धमा-चौिडी मचािा             

(4)  तीि-तेर    िा                           (5) आिाश-पताि एि िरिा             (6) आग बबूिा   िा  

(7) आसमाि हसर पर उठािा             (8) घाि पर िमि हछडििा                (9) मिंत्र िा िगिा  

(10) रा  में िााँटा हबछािा                  (11) िाया पिट   िा                         (12) दुहिया से िूच िरिा 

(13)  जी-जाि से जुटिा                      (14)  िाम तमाम िर देिा                   (15) िुशी िा हठिािा ि र िा 

(16) दीिार िडी िरिा                      (17) मुाँ  में पािी आिा                         (18)  िा   िा 

(19) जी त ड मे ित िरिा                 (20) आाँिें मि-मििर देििा, 
 

MATHEMATICS 

1. The sum of numerator and denominator of a fraction is 3 less than twice the denominator. If each 

of the numerator and denominator is decreased by 1, the fraction becomes 
1

2
 . Find the fraction. 

2. Solve the following pair of equations: 
5

𝑥−1
 + 

1

𝑦−2
 = 2 

6

𝑥−1
 - 

3

𝑦−2
 = 1 

 

3. A two digit number is obtained by either by multiplying the sum of the digits by 8 and then 

subtracting 5 or by multiplying the difference of the digits by 16 and then adding 3. Find the 

number. 

 

4. Check whether following quadratic equations has real roots. If yes, then find them : 

a) 3x2 + 2x + 1 =0   b) 2x² - 5x + 3 = 0 

 

5. If (-5) is the root of the quadratic equation 2x2 + px- 15=0 and the equation p(x2 + x)+k=0 has 

equal roots, then find values of ‘p’ and ‘k’. 

 

6. The diagonal of a rectangular field is 40 meters more than the shorter side. If the longer side is 20 

meters more than the shorter side, find the sides of the field. 

 

7. √
𝑠𝑒𝑐𝜃−1

𝑠𝑒𝑐𝜃+1
 + √

𝑠𝑒𝑐𝜃+1

𝑠𝑒𝑐𝜃−1
 = 2cosec𝜃 

8. If cos θ + sin θ = √2 cos θ, show that cos θ – sin θ = √2 sin θ. 

 



9. Prove that : 
𝑆𝑖𝑛𝜃−𝑐𝑜𝑠𝜃+1

𝑆𝑖𝑛𝜃+ 𝑐𝑜𝑠𝜃− 1
 = 

1

𝑆𝑒𝑐𝜃−𝑡𝑎𝑛𝜃
 

 

10. A circus artist is climbing a 20 m long rope, which is tightly stretched and tied from the top of a 

vertical pole to the ground. Find the height of the pole, if the angle made by the rope with the ground 

level is 30°. 

SCIENCE 
1. Write the functions of : 

a. Pupil              b. Auxin             c. ABA                 d. Cytokinin                  

2. Draw the following diagrams: 

a. Structure of human eye                        b. Patterns of magnetic field around a current carrying circular loop 

c. Myopic eye and its correction              d. Flow diagram to show the breakdown of glucose. 

e. Hypermetropic eye and its correction   f. Dispersion of white light through prism      

3. Write an advantage of AC over DC current. 

4. How is calcination different from roasting? 

5. In a food chain, 50,000 J of energy is available to the producer. How much energy will be available to 

the secondary consumer? 

6. Write any two properties of a magnetic field lines. 

7. What do you mean by Flemings left hand thumb rule? 

SOCIAL SCIENCE 

1. Give any two examples of informal sector of credit. 

2. Highlight the inherent problem, in double coincidence of wants.  

3. How does the use of money make it easier to exchange things? Give an example.  

4. How is money beneficial in transactions? 

5. How do the deposits with the banks become their source of income?  

6. Why can one not refuse a payment made in rupees in India?  

7. Compare formal sector loans with informal sector loans regarding interest only.  

8. Why is the supervision of the functioning of the formal sources of loans necessary?  

9. Prove with an argument that there is a great need to expand formal sources of credit in rural 

India. 

10. Why are most of the poor households deprived from the formal sector of loans?  

11. How does money eliminate the need for double coincidence of wants?  

12. What is the meaning of barter system?   

13. What is meant by double coincidence of wants? 

14. How does money act as a medium of exchange? 

15. What is a cheque?  

16. Who supervises the functioning of the formal sources of loans?  

17. What are the two forms of modern currency? 

18. What is collateral?  

19. Define credit. 

20. When we produce goods by exploiting the natural resources, in which category of economic sector such 

activities come? 

21. Who has the ownership of the assets in the public sector? 

22. What does GDP stand for? 

23. Mention any one feature of the unorganized sector. 

24. Where is the disguised employment found mostly? 

25. In which sector are many workers losing their jobs since 1990? 

26. What was the most important sector of economic activities at the earliest stages of development? 

27. Name the sector which forms the base for all other products. 

28. Name the sector in which the natural products are changed into other forms. 

29. Name the sector which helps in the development of primary and secondary sectors. 

30. Explain the meaning of disguised employment with the help of an example. 

 

 



ARTIFICIAL INTELLIGENCE 

Q1. Define CNN, 

Q2. Write in brief about NumPy. 

Q3. Differentiate between rule based and learning based approaches. 

Q4. List the importance of neural networks. 

Q5. Entrepreneurs are jobs creators, not job seekers. Explain this statement with an example. 

Q6. Raju works for a company whereas she was assigned the task of developing a project using AI 

project cycle. She knew that the first stage was scoping the problem. Help her list the remaining stages 

that she must go through to develop the project. 

Q7. Describe the following AI models and draw an appropriate diagram: 

a) Regression     b) Dimensionality reduction 

Q8. What are the two main types of data used in AI projects? 

Q9. What are the advantages of Neural Networks? 

Q10. What is spam? How is it harmful? 

INFORMATION TECHNOLOGY 

 
 

          



   

 



 

 

 

 

 

 


